Solving Systems of Equations in Three Variables

I
One Solution No Solution Infinitely Many Solutions
Directions: Solve the system of linear equations.
1. x-2y+2z=0A Use Aovd B 3o evminale Y
6X+y+32=6 — = - =
y B A=Y *2AZ =0 _, X-2y +22=0

X+y+z=-4 @ 2(‘)‘*7*‘32 ,—6\ lﬂx+§~!+dz=ll
13x +82=1/2 D

Use A anvd €t @lwvinade N
X-2y+22=0 _y X~2y*+az=0
,Z(')( Y + z=-~4) Ax+Ay A2 =-9
3x +dz=-8 £

Use D anvd £ Y0 solve Yar x gmd 2

13X +t2E=10 __, 13x+ @z =12 Sxryz=-%
~Y2x+4z =-9) ~lx ~82 = 1L 3(uWy+4z =-8
7x= 2% 12+ Q2 = ~$
xX=Yy Has= -0
2= -S

Use A% or C 40 solve Yor N
X3y+2 =~y

y~1=-4 ‘('—-l,{f;,-s‘)\




2. 2Xx+y=2 A

viz-3 B Use B and C +a chmihate =

4x-72=0 Y”'Z:B
ij —;_:O
Ha+y =3 D
Use Aand D h Soive for A and
QXN =L _, Ax+yT L AX+NY= 2
~ux +y = 3) -Yx-y=-3 2(_%),,7:3,
—2x=-) |
~ ) +vy=9
x= L Y

Use B ar £ 30 solve Yor Z
Hx-2=20

‘-l(-&)..z:o a.'] g_ﬂ
RX-Z=0

-2=~2

2=




3. Xx—5y+4z=38
AR Use Aand B 4o clmwikc 2

—9x—3y+67=5¢€ X-Sy+HZ=¥ _5 X-5y+4H4Z =3
L2x+y -A2=T7) Latdy-Yz =14

7x-3y =321 D

Use B and € 46 e\vmnagle Z
3(3x4y-2A2=37) 5, Gx+3y-LZ=al
-9x -3y+lz2=5 ~G9x~3y +62=5
a=asé

No saolutyon
INcon ey sdent




4. 4x-6y+82=4 A Use Aand B 4o ehiminale 2
5x+y-22=4 B Hx-ty +¥8a=Y _, Hx-(y+32-4
6x—-9y+122=6 € {5 x Iy —A7S Ln QA0x +Hy-32= )L

QU x -ay =20 D

Use B amd € Yo elwmwnale 2
((Sx+y-2z=4) _, 30x +ly-1272= 24
bx -9y +122=-¢ Lx -9y +2Z= ¢

N—

36)(—3\/ =30 ¢

Use D and £ 4o solve For X and y
B(qu-:z\ﬁ:m;_, Tx—&y =20
-2A(26x~-3y=20) ~?2x +ly=-L0

Q=0
NO uNhque Soluown

ler x=a. Salve Sor v v D
QLIX—Q.\,::IO
dta ~ 2y =20
Y= -aWa +20
N = -d4aqa + A0
—
Y=12a-\0

Solve for 2z \ww A,Bor C.
SXJ-\,—Q'.'Z' = l—l
S0+ 126~10-~22= Y4 B
Vla -\0-a22<=Y4 (0., 12a.-10, n(:lqﬂ
—~dZ2 = =17g+4
2= ~lTla+ 1Y

-
Z=\7a-14

o




5. 5x-2y+z=4 A Use A anvd B do eliminale 2

-3x+4y-z=2 B SX-3~’+221-{
6x-8y+2z=-4 & -3 x 49y -2= 2
ax *_i\f =6

X+y=3 D

Use B and C o eViminote =
2(-3xruy-2=2) _y -ex+¥y-z=Yy
lox — 97 sz = -4 Lx~3y +2z=-Y

Q= o

NG unque So \uhon

le} x=a. Sowe for y o D.
x+y=3
06+ =3
yT 3-a

}(Q,S—&,lo-'la.)]
Solve for 2 \ww A.Borl. —_/
S§x~2y +2=4
So-202-a)+z2=4
5a-6+t+2a +2 =4
Ta-L+32 =4
G+ 2=10
= Q-7





